PROJECT MANAGER: Tushar Solanki, P.E.

BID TAB BID: 2014-054-6436 DATE: July 31, 2014

				RoeschCo		Rebcon, Inc		C. Green Scaping LP	
ITEM	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	Not Applicable	and Non-Responsive EXTENSION
	BASE BID								
100	PREPARING ROW	STA	10	\$700.00	\$7,000.00	\$3,500.00	\$35,000.0	\$1,200.00	\$12,000.00
100	PREP ROW (TREE) (GREATER THAN 8 IN DIA)	EA	21	\$550.00	\$11,550.00	\$750.00	\$15,750.00	\$500.00	\$10,500.00
104	REMOVING CONC (PAV)	SY	589	\$9.00	\$5,301.00	\$8.00	\$4,712.00	\$13.00	\$7,657.00
104	REMOVING CONC (MISĆ)(MOW STRIP)	SY	9	\$10.00	\$90.00	\$8.00	\$72.00	9 0 1	\$135.00
104	REMOVING CONC (CURB OR CURB & GUTTER)	LF	465	\$6.00	\$2,790.00	\$2.50	\$1,162.50	\$ 2.	5,580.00
104	SAWCUT	LF	430	\$1.50	\$645.00	\$1.58	\$679.40	\$2.00	\$860.00
105	REMOVING STAB BASE AND ASPH PAV (2"-6")	SY	890	\$12.00	\$10,680.00	\$4.00	\$3,560.00	\$1.20	\$1,068.00
110	EXCAVATION	CY	168	\$20.00	\$3,360.00	\$15.00	\$2,520.00	\$16.00	\$2,688.00
132	EMBANKMENT (TYPE A)	CY	151	\$35.00	\$5,285.00	\$38.00	\$5,738.00	\$21.00	\$3,171.00
160	FURNISHING AND PLACING TOPSOIL (3")	SY	1545	\$4.00	\$6,180.00	\$7.00	\$10,815.00	\$4.10	\$6,334.50
162	BLOCK SODDING	SY	635	\$4.00	\$2,540.00	\$5.00	\$3,175.00	\$4.20	\$2,667.00
164	BROADCAST SEED (PERM) (URBAN) (CLAY)	SY	910	\$0.50	\$455.00	\$1.50	\$1,365.00	\$1.20	\$1,092.00
340	HMAC (TY-C) PG62-22	TON	35	\$400.00	\$14,000.00		\$12,250.00	\$138.00	\$4,830.00
401	FLOWABLE BACKFILL	CY	2	\$500.00	\$1,000.00	\$470.00	\$940.00	\$480.00	\$960.00
416	DRILL SHAFT (18 IN) CLASS C	LF	90	\$75.00	\$6,750.00	\$150.00	\$13,500.00	\$78.00	\$7,020.00
416	DRILL SHAFT (24 IN) CLASS C	LF	184	\$85.00	\$15,640.00		\$47,840.00	9 1 0	18,032.00
420	CL C CONC (FOOTING)	CY	67	\$325.00	\$21,775.00		\$87,100.00	\$4 10.	2,160.00
420	CL C CONC (ABUT & WINGWALL)	CY	50	\$650.00	\$32,500.00	\$870.00	\$43,500.00	\$610.00	\$30,500.00
420	CL C CONC (MISC)(MOW STRIP)	SY	40	\$90.00	\$3,600.00		\$6.000.00	\$118.00	\$4,720.00
432	RIPRAP (GROUTED)	CY		\$400.00	\$2,400.00		\$4.080.00	\$210.00	\$1,260.00
500	MOBILIZATION	LS	1	\$114,191.00	. ,	\$100,000.00	\$100,000.00		\$14,000.00
502	BARRICADES, SIGNS, AND TRAFFIC HANDLING	MO	8	\$750.00	\$6,000.00	. ,	\$14,400.00		\$9,600.00
502	FIELD OFFICE	MO	8	\$1,000.00	\$8,000.00	. ,	\$24,000.00	\$1,400.00	\$11,200.00
504	INSTALL ROCK FILTER DAMS	LF	90	\$20.00	\$1,800.00	\$27.00	\$2,430.00	\$24.00	\$2,160.00
506	REMOVE ROCK FILTER DAMS	LF	90	\$6.00	\$540.00	\$5.50	\$495.00	\$10.00	\$900.00
506	CONSTRUCTION EXITS (INSTALL) (TY 1)	SY	100	\$12.00	\$1,200.00		\$1,600.00	\$9.50	\$950.00
506	CONSTRUCTION EXITS (REMOVE)	SY	100	\$5.00	\$500.00	\$6.00	\$600.00	\$3.90	\$390.00
506	SANDBAGS FOR EROSION CONTROL (2')	LF	22	\$8.00	\$176.00	\$5.50	\$121.00	\$20.00	\$440.00
506	TEMPORARY SEDIMENT CONTROL FENCE	LF	90	\$1.50	\$135.00	\$4.40	\$396.00	\$20.00	\$315.00
506	TEMP SEDIMENT CONTROL FENCE (REMOVE)	LF	90	\$0.50	\$45.00	\$0.55	\$49.50	<u>s</u> .o	\$90.00
506	BIODEGRADABLE EROSION CONTROL LOGS(12")	LF	1120	\$2.25	\$2,520.00	\$3.85	\$4,312.00	\$ 1.5	920.00
528	BRICK PAVERS	SY	4	\$200.00	\$800.00		\$1,000.00	\$90.00	\$360.00
529	CONCRETE CURB (6")	LF	25	\$200.00 \$12.00	\$300.00	\$14.00	\$350.00	\$28.00	\$700.00
529	CONC CURB (MOUNTABLE)	LF	194	\$13.00	\$2,522.00	\$44.00	\$8,536.00	\$34.00	\$6,596.00
530	CONCRETE DRIVEWAY (5")	SY	194	\$13.00	\$500.00	\$180.00	\$1,800.00	\$80.00	\$800.00
531	CONCRETE SIDEWALK (6")	SY	1126	\$30.00	\$54,048.00	\$77.00	\$86,702.00	\$62.45	\$70,318.70
550	INSTALL CHAIN LINK FENCE (6') W/ BLACK VINYL COATING	LF	400	\$48.00	\$10,800.00	\$66.00	\$26,400.00	\$34.00	\$13,600.00
550	REMOVE CHAIN LINK FENCE	LF	630	\$3.00	\$1,890.00		\$4,095.00	\$34.00	\$13,600.00
550	GATE (INSTALL)(SINGLE)(6'X 4')	EA	630	\$3.00	\$1,890.00	\$600.00	\$600.00	\$800.00	\$2,520.00 \$800.00
556		LF	315	\$550.00		\$38.00	\$11.970.00	\$13.00	\$4,095.00
	4" HDPE UNDERDRAIN WITH GRAVEL AND FILTER FABRIC	EA	315	\$8.00 \$350.00	\$2,520.00 \$4.900.00	+	\$7.000.00	\$13.00	\$3,920.00
644 666	INSTALL SMALL ROADSIDE SIGN SUPP. AND ASSEM. REFLECTORIZED PAVEMENT MARKING TY I (R) 6" (SOLID)	EA LF	14 360	\$350.00	\$4,900.00	+	\$7,000.00	· · · · · · · · · · · · · · · · · · ·	\$3,920.00
				1		\$6.60 \$1.10	. ,	3.5	\$1,260.00
666	REFLECTORIZED PAVEMENT MARKING TY I (Y) 4" (BROKEN)	LF LF	1001	\$1.00	\$1,001.00	\$1.10	\$1,101.10	\$1 7 i	\$180.00
678	PAVEMENT SURFACE PREPARATION FOR MARKING 6" (SOLID)		360 1001	\$1.00 \$1.00	\$360.00	\$0.11 \$0.55	\$39.60		\$500.50
678	PAVEMENT SURFACE PREPARATION FOR MARKING (Y) 4" (BROKEN)			\$1.00 \$1.50	\$1,001.00	\$0.55	\$550.55	\$0.50	
740	ANTI-GRAFFITI COATING	SF	1500	\$1.50 \$750.00	\$2,250.00	1.65	\$2,475.00	\$2.00	\$3,000.00
3350	REINFORCED CONCRETE RETAINING WALL W/CUT STONE FACIA	CY	76	\$750.00	\$57,000.00		\$105,640.00	\$715.00	\$54,340.00
4420		SY SF	150	\$180.00	\$27,000.00		\$30,000.00	\$288.00	\$43,200.00
4420		-	605	\$18.00	\$10,890.00		\$16,940.00	\$26.00	\$15,730.00
4810	BRIDGE (CONTINENTAL KEY) OR EQUAL (COMPLETE IN PLACE)	EA	1	\$124,000.00	\$124,000.00	\$203,000.00	\$203,000.00	\$131,000.00	\$131,000.00

BID TAB BID: 2014-054-6436 DATE: July 31, 2014

PROJECT MANAGER: Tushar Solanki, P.E.

				RoeschCo		Rebcon, Inc		C. Greer	n Scaping LP
								Not Applicable and Non-Responsive	
ITEM	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION
5520	56" RAILING (WITH RUB RAIL)	LF	466	\$155.00	\$72,230.00	\$110.00	\$51,260.00	\$231.00	\$107,646.00
5520	72" RAILING (WITHOUT RUB RAIL)	LF	46	\$180.00	\$8,280.00	\$172.00	\$7,912.00	\$192.50	\$8,855.00
7605	REMOVABLE BOLLARDS	EA	4	\$600.00	\$2,400.00	\$1,200.00	\$4,800.0 <u>0</u>	\$1,180.00	\$1,720.00
7770	GARDEN GATES/MANTA LOCK LATCH	EA	26	\$850.00	\$22,100.00	\$550.00	\$14,300.0 <mark>0</mark>	\$687.50	\$17,875.00
7771	FENCE BUFFER LATTICE	LF	475	\$18.00	\$8,550.00	\$11.00	\$5,225.0 <mark>0</mark>	\$10.75	\$5,106.25
7772	LOCK LATCH PEDESTRIAN GATE	EA	26	\$850.00	\$22,100.00	\$650.00	\$16,900.0 <mark>0</mark>	\$660.00	\$17,160.00
7773	TYPE 3 STEPS	EA	1	\$1,250.00	\$1,250.00	\$1,800.00	\$1,800.0 <mark>0</mark>	\$1,4 \$ \.0 0	\$1,400.00
7774	10'-8" ACCESS GATE	EA	1	\$1,500.00	\$1,500.00	\$1,600.00	\$1,600.0 <mark>0</mark>	\$1,(72 1)	1,072.50
7775	BARRIER FREE RAMP	EA	1	\$550.00	\$550.00	\$1,100.00	\$1,100.00	\$1,480.00	\$1,480.00
20300	ADJUSTMENT AND/OR RELOCATION OF WATER METER BOX	EA	1	\$1,100.00	\$1,100.00	\$350.00	\$1,000.0 <mark>0</mark>	\$600.00	\$600.00
20330	ADJUSTMENT OF WATER VALVE COVERS AND VALVE STICKS	EA	1	\$1,100.00	\$1,100.00	\$350.00	\$350.0 <mark>0</mark>	\$400.00	\$400.00
20340	ADJUSTMENT OF WASTEWATER LATERAL CLEANOUT	EA	1	\$1,100.00	\$1,100.00	\$350.00	\$350.00	\$600.00	\$600.00
20350	ADJUSTMENT OF WASTEWATER MAINLINE CLEANOUT	EA	1	\$1,100.00	\$1,100.00	\$550.00	\$550.00	\$600.00	\$600.00
20360	ADJUSTMENT OF WASTEWATER MANHOLE	EA	1	\$1,100.00	\$1,100.00	\$2,000.00	\$2,000.00	\$900.00	\$900.00
			1	. ,					

SUBTOTAL BASE

\$735,800.00

\$1,067,884.65

\$721,287.20

BID TAB BID: 2014-054-6436 DATE: July 31, 2014

PROJECT MANAGER:	Tushar Solanki, P.E.
------------------	----------------------

				RoeschCo		Rebcon, Inc		C. Green Scaping LP Not Applicable and Non-Responsive	
ITEM	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION		EXTENSION
	BASE BID: DRY KILN								
416	DRILL SHAFT (18 IN) CLASS C	LF	90	\$75.00	\$6,750.00	\$150.00	\$13,500.00		\$0.00
410	DRILL SHAFT (24 IN) CLASS C	LF	184	\$85.00	\$15,640.00	\$150.00	\$47.840.00		\$0.00
410	CL C CONC (FOOTING)	CY	67	\$325.00	\$21,775.00	+	\$87,100.00		\$0.00
420	CL C CONC (ABUT & WINGWALL)	CY	50	\$650.00	\$32,500.00		\$43,500.00		\$0.0 <u>0</u>
420	CL C CONC (MISC)(MOW STRIP)	SY	40	\$90.00	\$3,600.00	\$150.00	\$6,000.00		\$0.00
529	CONCRETE CURB (6")	LF	25	\$90.00	\$300.00	\$130.00	\$350.00		$n = \frac{1}{2}$
529	CONC CURB (MOUNTABLE)	LF	194	\$13.00	\$2,522.00	\$44.00	\$8,536.00		\$0.00
530	CONCRETE DRIVEWAY (5")	SY	10	\$50.00	\$500.00	\$180.00	\$1,800.00		\$0.00
531	CONCRETE SIDEWALK (6")	SY	1126	\$30.00	\$54,048.00		\$86,702.00		\$0.00
4810	BRIDGE (CONTINENTAL KEY) OR EQUAL (COMPLETE IN PLACE)	EA	-	\$124,000.00	. ,	\$203,000.00	\$203.000.00		0.00
7773	TYPE 3 STEPS	EA	1	\$1,250.00	\$1,250.00	\$1,800.00	\$1,800.00		\$1,400.00
7775	BARRIER FREE RAMP	EA	1	\$550.00	\$550.00	. ,	\$1,800.00		\$1,480.00
1115		EA	1	φ <u></u> 550.00	\$550.00	\$1,100.00	φ1,100 <u>.00</u>	\$1,400.00	\$1,400.00
	SUBTOTAL: BASE BID DRY KILN				\$263,435.00		\$501,228.00		\$0.00
	ALTERNATE NO 1 - UNSPECIFIED SOURCE								
416	DRILL SHAFT (18 IN) CLASS C	LF	90	\$75.00	\$6,750.00	\$150.00	\$13,500.00	\$78.00	\$7.020.00
416	DRILL SHAFT (24 IN) CLASS C	LF	184	\$85.00	\$15,640.00		\$47,840.00		\$18,032.00
420	CL C CONC (FOOTING)	CY	67	\$325.00	\$21,775.00		\$87,100.00		\$35,510.00
420	CL C CONC (ABUT & WINGWALL)	CY	50	\$650.00	\$32,500.00	\$870.00	\$43,500.00		\$32,000.00
420	CL C CONC (MISC)(MOW STRIP)	SY	40	\$90.00	\$3,600.00	\$150.00	\$6.000.00		\$5,040.00
529	CONCRETE CURB (6")	LF	25	\$12.00	\$300.00	\$14.00	\$350.00	5 1 0	\$725.00
529	CONC CURB (MOUNTABLE)	LF	194	\$13.00	\$2,522.00	\$44.00	\$8,536.00		1,596.00
530	CONCRETE DRIVEWAY (5")	SY	10	\$50.00	\$500.00	\$180.00	\$1.800.00		\$800.00
531	CONCRETE SIDEWALK (6")	SY	1126		\$54,048.00	+	\$86,702.00		\$70,318.70
4810	BRIDGE (CONTINENTAL KEY) OR EQUAL (COMPLETE IN PLACE)	EA	-	\$124,000.00		\$203,000.00		\$131,000.00	\$131,000.00
7773	TYPE 3 STEPS	EA	1	\$1,250.00	\$1,250.00		\$1,800.00		\$1,400.00
7775	BARRIER FREE RAMP	EA	1	\$550.00	\$550.00	. ,	\$1,100.00		\$1,480.00
		1							
	SUBTOTAL ALTERNATE NO 1 - UNSPECIFIED SOURCE				\$263,435.00		\$501,228.00		\$309,921.70
	ALTERNATE NO. 2 - <1.7NOx								
416	DRILL SHAFT (18 IN) CLASS C	LF	90	\$75.00	\$6,750.00		\$13,500.00		\$7,020.00
416	DRILL SHAFT (24 IN) CLASS C	LF	184	\$85.00	\$15,640.00		\$47,840.0 <u>0</u>		\$18,032.00
420	CL C CONC (FOOTING)	CY	67	\$325.00	\$21,775.00	. ,	\$87,100.0 <mark>0</mark>		\$35,510.00
420	CL C CONC (ABUT & WINGWALL)	CY	50	\$650.00	\$32,500.00	\$870.00	\$43,500.00		\$32,000.00
420	CL C CONC (MISC)(MOW STRIP)	SY	40	\$90.00	\$3,600.00	\$150.00	\$6,000.0 <mark>0</mark>	\$126.00	\$5,040.00
529	CONCRETE CURB (6")	LF	25	\$12.00	\$300.00		\$350.0 <mark>0</mark>		\$725.00
529	CONC CURB (MOUNTABLE)	LF	194	\$13.00	\$2,522.00	\$44.00	\$8,536.00		3,596.00
530	CONCRETE DRIVEWAY (5")	SY	10	\$50.00	\$500.00	\$180.00	\$1,800.0 <mark>0</mark>		\$800.00
531	CONCRETE SIDEWALK (6")	SY	1126	\$48.00	\$54,048.00	\$77.00	\$86,702.0 <mark>0</mark>		\$70,318.70
4810	BRIDGE (CONTINENTAL KEY) OR EQUAL (COMPLETE IN PLACE)	EA		\$124,000.00		\$203,000.00	. ,	\$131,000.00	\$131,000.00
7773	TYPE 3 STEPS	EA	1	\$1,250.00	\$1,250.00	\$1,800.00	\$1,800.0 <mark>0</mark>		\$140.00
7775	BARRIER FREE RAMP	EA	1	\$550.00	\$550.00	\$1,100.00	\$1,100.00	\$1,480.00	\$1,480.00
	SUBTOTAL ALTERNATE NO 2 <1.7NOx				\$263,435.00		\$501,228.00		\$308,661.70
7000	PARTNERING WORKSHOP	LS	1	\$1,000.00		\$2,000.00		\$400.00	
					\$72F 000 00	. ,	¢1 067 004 05		¢704 007 00
	BASE BID (DRY KILN): (TRAIL + DRAINAGE + BRIDGE) ITEM 7000 PARTNERING WORKSHOP				\$735,800.00 \$1,000.00		\$1,067,884.65 \$2,000.00		\$721,287.20 \$400.00
							. ,		
	TOTAL BID: BASE BID (DRY KILN) + PARTNERING WORKSHOP				\$736,800.00		\$1,069,884.65		\$721,687.20

BID TAB BID: 2014-054-6436 DATE: July 31, 2014

## PROJECT MANAGER: Tushar Solanki, P.E.

				RoeschCo		Rebcon, Inc			Scaping LP
ITEM	DESCRIPTION	UNIT	QUANTITY UN	NIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION
	CONCRETE ITEMS								
	A. BASE BID CONCRETE ITEMS ONLY (DRY KILN)				\$263.435.00		\$501.228.00		\$0.00
	B. ALTERNATE BID NO. 1 (UNSPECIFIED SOURCE)				\$263,435.00		\$501,228.00		\$309,921.70
	C. ALTERNATE BID NO. 2 (<1.7 Nox)				\$263,435.00		\$501,228.00		\$308,661.70
	TOTAL BID - A + B + PARTNERING WORKSHOP				\$736,800.00		\$1,069,884.65		\$1,031,608.90
	TOTAL BID - A + C + PARTNERING WORKSHOP				\$736,800.00		\$1,069,884.65		\$1,030,348.90